EP FB-30x4.5 BB WXI-50x7X5.5 CB TB-006 0-50x40x3.2
(EB) Y20y I ~
<+ o
—5 | 8 8 8§ 8 § § | IE - =
=
®\ =
VL
S
A
o % <t
g 2
(i)
S
A
=
L
B BEREERE = F
ip) o
5
001 50.| 50
e 233 100
SSEEEEEEEEEEEEEEnn
= &
’ =7
WXT=50x 7555 1t & 53 Efl
P33
/ | g% | 7
1126711
: I 2 5 7 T M % |8 f ® = B L
55 3% 55 2 B X B Bl 5 i
N SS400  BREND- ¥ _ -
v | — s KX 39-750 a3 || /5 | P ARERRR A
5 % B M E - 2@ 4 B E = % FBAS TEL (000049 0500 ) EAX (200 o458 0505

D9ADTL—FIT —

FEIDORRITIARITHENO £, TIREAFENEY



D9ADTL—FIT —

EP FB-32x4.5 BB WXI-50x7x5.5 CB TB-06 0-45x40x3.2
(Tm/ 20y TN . ARy Y (125)
<+ o
—5 | 8 8 8§ 8 § § | IE =N =
S
®\ S
(A
S
(A
o B x
o™ o [qUl]
(i)
3
(A
3
Ll
7 | ERERRRR X ¥ <
L o
001 501450 5
e 233 100
SSEEEEEEEEEEEEEEnn
——————————————————————————————————————————————————————————————— ==
L S : ; P | ~
== = = =
L
/ =7
WXT=50x 7555 1t & 53 Efl
P33
/ | g% | 7
1126711
. | | 2 2 I F AN & 5 & % B %
SSIIEL LR & \WK-X 39-750 p B & H Hip ] %
- c/ & FIANY ¥4 EULURI
9[}’3:)9 1 88400 /ﬁﬁm%‘&)o% '|'_85 \A/K_X 39_750 AB R 1/5 %}ﬁlﬂﬁ%*ﬁiﬁ%*i
5 % B M E - 2@ 4 B B = % | AEA3 TEL (000049 0500 ) EAX (200 o458 0505

FEIDORRITIARITHENO £, TIREAFENEY



DAL —FIaT —

EP FB-32x4.5 BB WXI-50x7x5.5 CB TB-06 0-45x40x3.2
(t@/>2UyITND - Z3h8y £y (£=5)
<+ o
—— __7________ — s yi—y —
<
% -
S
[l % <t
aN an
o™ o [qUl]
(i)
3
(A
3
EREEREREEERRERERERE T E <
I'g) ” co
o
601 50| 455
i 100
SESEEEEEEEEEEEEEEnn
——————————————————————————————————————————————————————————————— =
L S : ; P | ~
= = = =
L
V4 EJ:J
WX 50x7555 1t & 53 Efl
P33
/ | g% | 7
1126711
. | ! 2 2 I F AN & g5 A & Z B %
55 M2l 59 & \WK-X 39-750 B B @ H His # %
c/. 5 7368y £ 4 COIBOLIG |y
S ogs SS400  HEBEND- ¥ . -
T T s KX 39-750 aB |1 /5 | P HAERAR
2 % |nE M B - £ @ 4 B ® = % AEAS TEL (000049 0500 ) EAX (200 o458 0505

FEIDORRITIARITHENO £, TIREAFENEY




G i3 H g £

) AR
o EHREEH WK-X 39 - 750 o HRAME T-25
o HI o <tk 390 x L x50 o E FENE 300 mm
o FRAMAE ;& A o K714 /13- WXI-50x7x5. 5
FEEE
° HE o RFYLHN—
+ 1% W — i o T P = 100 kN -EvF Pe = 33 mm
- EBERH i= 0 CWEEHE Z = 2319 mf
-EEEEELZWE P, = 100.0 kN
- B mEE axb=200 mm x 500 mm
- R FERE R 2= 300 mm
RFYUGNA—FRAFEE 4= 500 mm
MOE R EHE
RTFYDGN——REBHMHR L LTHET B,
=NV | op = 0.180 kN/mm?
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W= axb
100.0 x 33
W *m* 0.033 kN/mm

M :%xw x @ x (20— 21 ) (0>0M 0,=0)

! %0033 x 300 x (2 x 300 — 300 )

8
= 371.3 kN-mm
ol Hh: o
M 3711.3 .
U=T:W:. 0.16 kN/mm2=ob
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